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X1 X7T= 7

X 7
(%HL<C149 x 1 ny)

X 3= 5 X 6
(s LI 10 X3 1Y)

X 2= 7 X 8
(XELCIF 28 X 2 1Y)

X 2= 3 X 10
(e Ll 15 x2n0nY)

X3= 1 X 9
(%: Ll 3x3nY)

X 9= 8 X 9
(%: 1L (134 x1871nYr)

X 2= 2 X 4
(%t 1L (1x4x2nr)

X 4= 4 X 8
(%: L1 8x4ny)

X3= 9 X 9
(%XH LI 27 X3 1Y)

X5= 6 X 5
(%: 1L (1 3x10x1Y)

e

WA

ERIEEL X I,

@ 6 X 3

X 2= 6 X 6
(%E LI 18 X2 1Y)

X 2= 7 X 6
(%E LI 21l X2 n1mY)

X5= 9 X 5
(%3 L1 3x157Y)

X 5= 7 X 5
(%L1 35 X1 rY)

X 3= 3 X 6
(%3116 XxX37nr)

X 2= 5 X 8
(%XELIF 20X 2 1Y)

X 5= 2 X 10
(%L 4 X 5 )

X 3= 4 X 9
(%E LI 12X 3 1Y)

X 2= 1 X 4
(%3 L1 2xX27nr)

X 7= 8 X 7
(%3 L1 4x14ny)
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X 2X3= 7

X 6
(%u LIl 14x3nY)

X 2= 1 X b6
(%: L1 3xX2nY)

X 2= 2 X 8
(%: L1 8X2nY)

X 5= 8 X 5
(%: L1 2%X2071Y)

X 2= 2 X 2
(%t L1 4dx17rny)

X 2= 4 X 2
(%t L(lx2x4ny)

X 7= 6 X 7
(%: L1 2%xX21 17y)

X 3= 5 X 9
(%H Ll 15 X3 1Y)

X 9= 9 X 9
(%: L1 3X27 1Y)

X 4= 3 X 8
(%: 1Ll 6xX4nr)

e

WA

ERIEEL X I,

@ 2 X 2

X 7 =

X o =

X 2= 3

X 2= 5

4 X 7
(%3 L1 2x14ny)

X 2= 2 X 10

(%E LI 10X 2n1mY)

5 X 5
(%E LI 25 X1 nYy)

X 7= 8 X 7

(%3 L1 2X28 1Y)

X 4
(%3116 X2700)

X 2= 6 X 2

(%: L1 2X671nr)

X2= 1 X 8

(%3 L1 4x2nr)

X 2= 7 X 10

(%ELCIE 3B X2n0Y)

X2= 9 X 2

(%3 L1 3X67nY)

X 4
(%E LI 10X 2n1mY)
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